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Instruction : (A) Question No. 1 is an objective type question. It has three
sections—Section (A), Section (B) and Section (C). In
Section (A) Multiple choice questions, in Section (B) Fill

in the blanks and in Section (C) Match the columns are
given. Each section has 5 questions and each question

carries 1 mark.
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[2]

(@uE-31) el famey g fafa :

(Section-A) Choose and write the correct option :

() W= FEdE :

(i)

(37) &S & T Teh qlhl
() @E 99H &! fafy

(¥) TRUAERI T HIHAA AE FGHT

(3) SR | 9 & Tl

Mulching is :

(a) method of seed sowing

(b) method of manufacturing manures
(c) artificial cover up of weeds

(d) None of the above

e Ofa-farst & Geifed waa € -
(3 =

(3) 3ITH

(@) Tl

(7) SHIe Hei

Crop related to social customs is :
(a) Onion

(b) Ginger

(c) Turmeric

(d) All of the above

[1x5=5]
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(iii) U % TR AR ‘Ut T SR R

(37) &R HHA
(&) T Tl
(7)) Tosifesh @t
(3) T 4 HE TI

‘Sowing of lady’s finger’ around cotton is an example of :

(a) Guard crops

(b) Dry farming

(c¢) Synergetic cropping
(d) None of these

(iv) K I HHA F foTT Geheahrat (hifash oTaeen) € :

)

(37) T THehed THg
(&) o0 st
(%) <M Thd G
(7) Sl g+t

Critical stage for wheat crops is :
(a) Tillering stage

(b) Flowering stage

(c) Dough stage

(d) All of the above

Tk O T ST I T ¢
(37 g + Ei (&) oY + T
(&) S += (3) ST asht

A suitable example of augmenting crop is :

(a) Wheat + Mustard
(c) Barley + Gram

(b) Berseem + Mustard
(d) All of the above
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yya-1  (@ue-a) fea wuE & gid s [1x5=5]

(Section-B) Fill in the blanks :
(i) <a-Tiem gRT i =T I H GUR Bl © |

Drainage improves condition of soil.
(if) YO = i TS i B T |

The length of Revenue Chain is feet.
(iii) TS wEdl g gfd o &t A H gig g S B

By leguminous crops quantity of improves in soil.
(iv) fafea &= & fag T HHE Foh HerehT-Se] -1 € |

Maize-Potato-Sugarcane for irrigated area is a crop rotation

for year.

(v) HEE TR W BN AR qiEfd w19 gl

The Chairman of Agriculture Extension Committee on central

level is
TF-1 (WUS-9) Wl Sel oAy [1x5=5]
Wy 'w wy ‘g’
(i) S - (37 fgonita EXgqER
(if) o EH - (9) @ wr vl o afeft aard
(iif) ST TSR - (¥) 3TER q =l &1 ulRed uard
(iv) UHifesw a1 - (7)) dgauid EXUdar

(v) difead HeeRachEe

(Section-C) Match the following :

(3) THaug TR

Column ‘A’ Column ‘B’
(i) Satyanashi - (@) Biennial weeds
(if) Dub grass - (b) Preservative of sour foods
(iii) Congress grass - (c¢) Preservative of pickles

and chutneys

(iv) Acetic acid - (d) Perennial weeds

(v) Sodium metabisulphite (e) Annual weeds
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T : (F) T HHF 2 9 T AfTeswia T ¥ ToE T W
2 31k 3Teifed € 1 (ST i Afereray wsg-ET 30 91 ©)

Instruction : (B) Question Nos. 2 to 9 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

WA-2 O ok 9 ST I GHE | 2 [2]
What do you understand by crop rotation?

Y9A-3  SAadid HHd W 39 1 GHId § ? [2]

What do you understand by Inter-cropping?

UPT-4 AT T W A Ay © ? [2]

What is the meaning of individual contact?

UeT-5  gYA-SR (YHT) &% HiE < oy faAfEm | [1+1=2]

Write any two advantages of sight-seeing (tour).

Yg-6 T8 Slfch | 1 A § ? [2]
What is the meaning of kitchen garden?

WA-7 a1 herd Y 31T 1 HHE § 2 [2]
What do you understand by cutting?

Uga-8  faureH 9 s a2 [2]

What is the meaning of Division?

W99-9  3TER i Ry fafay | [2]

Define Pickle.
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fagar : (F) U HHA% 10 § 13 T THEaT U § | TH T W
4 3% areifed §1 (ST i STfuehaq See-HH1 75 U8 ®)

Instruction : (C) Question Nos. 10 to 13 are short answer type questions.
Each question carries 4 marks. (Maximum word-limit of

answer is 75 words)
Y9a-10 IR W YT o™ il § shig =R 3= fafau | [1x4=4]
Write any four differences between surface and underground
drainage canals.
HYdar
OR
= Td STa-fe § #iE =R o= fafa
Write any four differences between irrigation and drainage.
yea-11 e W femfor fafa [2+2=4]
(37 siifrad ==
() feme o

Write notes on the following :
(a) Engineer’s chain
(b) Magnetic compass
3rar
OR

= HA&Tol § S Aredl ferwgl < senel b Herg # ferfew

Write briefly any two obstacles in chain surveying.

Y9A-12  ICHM i Wt 1 i e fageti W it [1x4=4]
(&7) Sfaar (FE g1 (&) SIS &/ ER=
(7) I 1 HHA (3) 309/ THRW
Describe the cultivation of Berseem in the following points :
(a) Varieties (any two) (b) Seed rate / hectare
(c) Sowing time (d) Yield/hectare

M-87A



YI1-13

frar

[71
srerar
OR

TSI okt @t o1 9o f1e forgstl i

(37) aEafas A () A
(@) 9 (3) oS 3V TR
Describe the cultivation of Ratanjot in the following points :
(a) Botanical name (b) Family
(¢) Soil (d) Seed rate/hectare
e 1 S 51 1 fafy w1 fafea
Write the preparation method of Apple Jam.

3rerar

OR

STHES o1 Sfelt s st fafy =t fafa |
Write the preparation method of Guava Jelly.

: (3) T HHEG 14 TE 15 TEAT TH T OTAE T W
5 3feh MEifed € | (ST 1 ferehad Tg-ml 750 I )
Instruction : (D) Question Nos. 14 and 15 are short answer type questions.

Each question carries 5 marks. (Maximum word-limit of

answer is /50 words)

[4]

U9T-14  Ghe Tl i Wl 1 gl 71 sfideri # sifSe [1x5=5]
(37) aFHfdH | (&)
(@) g (]) Sierarg
(3) SUS/RHRM
Describe the cultivation of Safed Musli under the following heads :
(a) Botanical name (b) Family
(¢) Soil (d) Climate
(e) Yield /hectare
M-87A P.T.O.
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arerar
OR

7Y et Wt b1 Ui T Sisen] | Hifolg
(37) areafdes M (&) P

(T 9 () fd=re
(3) STS/THRI

Describe the cultivation of Ashwagandha under the following heads :
(a) Botanical name (b) Family

(¢) Soil (d) Irrigation

(e) Yield /hectare

U915 Sud s sftamelt @t g uie fasman fafew | [1x5=5]

Write any five characteristics of well-planned lawn.

sTear
OR

ST TIaTSa! shi g U Tt fafay |

Write any five characteristics of perennial chrysanthemum.

T : (3) YT HHK 16 ¥ 18 dF TESIUT UM & | IIh T W
6 37 oTEfed § 1 (ITR H SATLhdH TE-THT 250 IE ¥)

Instruction : (E) Question Nos. 16 to 18 are long answer type questions.
Each question carries 6 marks. (Maximum word-limit of

answer is 250 words)
W-16 TUAER ¥ HE B: BT faf@y | [1x6=6]
Write any six disadvantages of weeds.

s{qar
OR

e o ot % B: Fuew fafemr fafaw )

Write any six agricultural methods of insect control.

M-87A
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YeA-17 ‘oW’ @ wdt w1 T fogedi | avie ifa [1x6=6]
(37) aFEafas A () A
(H) IUS/EHRT (§) HUSRU
() W (FE gHTH) (®) &I (HE gFm)
Describe the following points of Paddy cultivation :
(a) Botanical name (b) Family
(c¢) Yield/hectare (d) Storage
(e) Disease (any two names) (/) Insect (any two names)
3rerar
OR
‘e’ 6t et 1 e faget § auiE St
(87) areafdes M
() 3d
(7) oS SUTRI
(3) U THRI
(3) T (FE g ™)
(%) &l (R grm)
Describe the following points of Soyabean cultivation :
(a) Botanical name
(b) Family
(¢) Seed rate / hectare
(d) Yield/hectare
(e) Disease (any two names)
() Insect (any two names)
M-87A P.T.O.



[10]
Yy-18  Hegd i Wl ol 99 =1 Iehi § HifT : [1x6=6]

(37) IFEfaes A

(&)

(%) 3-1d foved (I aT)

(3) Sieray

(3) 4=

(%) fd=re

Describe the cultivation of Jackfruit under the following heads :

(a) Botanical name

(b) Family

(c) Improved varieties (any two)

(d) Climate

(e) Soil

() Irrigation

M-87A
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arerar

OR

SATeeT bt Wt o1 g T wident | i
(87) dreafds ™

(o) Fd

(§) 3= foell (HFE g

(]) Sierery

(3) 4+
(%) fd=re

Describe the cultivation of Aonla under the following heads :
(a) Botanical name

(b) Family

(c) Improved varieties (any two)

(d) Climate

(e) Soil

(f) Irrigation

oooooooooo
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